TOF ADCs and Timewalk

Durga Rajaram

University of Michigan
September 27, 2007



PMT ADC Top 320 ___pmtadc.t | pyT ADC Bot 320 | pmtadc_b

Entries 1. Entries 1385

C Mean 74  450F Mean 141.2

i RMS 3¢ - RMS  69.12
- 400
100 C
L 350
80 300
r 250 —
60— C
L 200F
40 150
- 100
20_ C
i J 50—

00“-“*2‘0|0 400 600 800 1000120014‘00160“‘0]‘_1%106%2000 O_Hflllll L\II|III‘\Illl\\llllll\llll\‘
0 200 400 600 800 1000 1200 1400 1600 1800 2000
ADC

Why are the ADCs for top and bottom are so different?

Cuts:

* Single track match to bar

e Track momentum > 10 GeV

e Track in a +/- 10cm spot at the bar

No “adjacent hits™ (this cut still makes me nervous)
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320 Top TDC vs ADC
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| 319 Top TDC vs ADC |
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| 320 Bot TDC vs 1/sqrt(ADC) |
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Fit to: TDC = p0 + pl/sqrt(ADC)
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